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B[ LAY —4% |E i 5] GROSS |HDCP [NET
B BEE AR 37 37 74 4.8 69.2
2 FI[IEA B1E 41 42 83 13.2 69.8
S| EE M 42 45 87 16.8 70.2
IR A= ¥4 36 36 72 1.2 70.8
5 fi[fRA TH 45 44 89 18.0 71.0
6 fir| Rk iE— 46 43 89 18.0 71.0
761 FEF Bth 42 47 89 18.0 71.0
8 fI|EH E— 39 39 78 6.0 72.0
9 fI[iE4 K 1EA 45 39 84 12.0 72.0
10 ;KA A 42 42 84 12.0 72.0
11 fr|EAR #F8 40 36 76 3.6 72.4
12 7 |3RAR EE—ER 42 40 82 9.4 72.6
13 | HE E 50 42 92 19.2 72.8
14 Gi|{E1B0 #H— 40 45 85 12.0 73.0
15 1| K3F  FOER 43 38 81 7.2 73.8
16| =H 28 40 40 80 6.0 74.0
17 61| =H =F 44 42 86 12.0 74.0
18 i | HAREF #& 53 45 98 24.0 74.0
19 47| 2@A $= 44 46 90 15.6 74.4
20 17| ESE 41 42 83 8.4 74.6
21 1| E8R 45 44 89 14.4 74.6
22 i ElE IEs 47 47 94 19.2 74.8
23 (r[/hNEF &L 45 49 94 19.2 74.8
24 IR HA 50 43 93 18.0 75.0
25 fir | AR 41 39 80 4.8 75.2
26 r|AP RH 55 47 102 26.4 75.6
27 IR BER 44 43 87 10.8 76.2
28 (O EiE 45 51 96 19.2 76.8
29 i |ZH £ 53 41 94 16.8 77.2
30 f[ERE JE 49 47 96 18.0 78.0
NG EE 49 40 89 10.8 78.2
2 LI|EH —F 44 51 95 16.8 78.2
33 [k WF— 45 48 93 14.4 78.6
MGIlEHE B 60 55 115 36.0 79.0
35 Gi|EHE = 55 53 108 28.8 79.2
36 17| 1EA 49 52 101 21.6 79.4
37 fI[+tH IERE 49 57 106 26.4 79.6
38 | KIE Ei 50 48 98 18.0 80.0
39 fr[)lm A 59 57 116 34.8 81.2
40 L[ FE) HEEX 49 48 97 15.6 81.4
A fI[fEs FEAR 53 54 107 25.2 81.8
42 (IO & 58 60 118 36.0 82.0
43 fLf;EH B 49 55 104 21.6 82.4
44 L[H) BK 47 55 102 19.2 82.8
45 i |fhiR F 51 53 104 19.2 84.8




